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BUES 20224F 20224F 20224F 20214 20214E
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BA
1 Rk F Tier 1IE AR DR 8,392,964|  8,588,328| 8,382,735 8,602,562| 8,542,813
2 Tier & ARDEH 9,621,367| 9,817,253|  9,612,798| 9,749,929 9,689,718
3 WEHCERDOH 10,384,970 10,604,503 10,437,117 10,789,045 10,707,851
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4 YR2 « 7%y hOH 72,286,492| 70,248,881| 66,120,492 64,410,194 62,238,855
HEEALR
5 S AR Tier LI 2R 11.61% 12.22% 12.67% 13.35% 13.72%
6 HEETier1 o R 13.31% 13.97% 14.53% 15.13% 15.56%
7 HAE R E CE AR 14.36% 15.09% 15.78% 16.75% 17.20%
HEREL ALy DR
13 BT 7 AR—= ¥ —DFH 221,450,414| 214,310,041| 199,421,206| 193,492,481| 184,783,779
14 HEEL ALy DR 4.34% 4.58% 4.82% 5.03% 5.24%




